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/
(Special Segments in Triangles Worksheet)
M
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|I| In the given triangle, AC s the perpendicular bisector of BD
a) State the relationship between BC and BD
b) State the relationship between m/BCA and m Z DCA
A
¢) State the relation between BA and AD
d) What type of triangle is AABD
e) BA = BC, True or False
B Cy D
In the triangle given below, XZ is the angle bisector. If ZXYZ = 70° and ZXWZ = 60°, Find
. YXZ and £ ZXW.
In the triangle given below, CD is the median. If ZCYD = 60° and ZCDX = 120°. Find £YCD
€
S 60°
| |
X D Y
E In the triangle given below, Gl = 16 inches and HJ = 32 inches. Find the area of AGHJ.
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Answers (Special Segments in Triangles Worksheet)

MATH

PEN PN MONKS
|I| In the given triangle, AC s the perpendicular bisector of BD

a) State the relationship between BC and BD
BC =-1-BD

b) State the relationship between m/BCA and m Z DCA
mZBCA = m ZDCA = 90° A

¢) State the relation between BA and AD
BA=AD

d) What type of triangle is AABD
Isosceles Triangle

e) BA = BC, True or False

False

B Cy D

In the triangle given below, XZ is the angle bisector. If ZXYZ = 70° and ZXWZ = 60°, Find
£ YXZ and /. ZXW.

LYXZ = 25°, LZXW = 25°

In the triangle given below, CD is the median. If ZCYD = 60° and ZCDX = 120°. Find £YCD
C

A0 60°

y 5 —y £YCD = 60°

E In the triangle given below, Gl = 16 inches and HJ = 32 inches. Find the area of AGHJ.
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